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Score and indications of solutions
exercisel | indications of solutions Score
1- sub-groupe 0.5
2- |a) Sub vectoriel space 0.5
b) dimE= 2 0.25
3- |a) the stability for 0.25
b) (E,+ ) ) is a commutative ring 0.5
4- |a) the stability for T 0.25
b) homomorphism 0.25
c) (E*,T)commutative group 0.25
6- | a) the distributivity 0.5
b) (E,+,T)is a commutative field 0.25
exercise2 | indications of solutions Score
1- | a) verification 0.5
b) the two solutions of the equation 1+ 1 et - 1+ 2x0.25
2- |a) the equality 0.75
b) the equality 0.75
3- | a) the implication 0.5
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b) the implication 0.5
exercise3
1- |a 2 9 1
) the values taken by X are : 0,—, —,,,,,,,,—,
10 10 10
b) ®, 10 @& 50 101®OxO 1
Calculus of Pp&X = —3= p&GX = —37= — G &
pg 20 P 100 5'5'&56 §26
2- & 90 1
Calculus of ng P
100
exercise4 | indications of solutions Score
1- | a) continuity on right at 0 0.5
b) calculus of 1iM £ (X).vcuverrrrrrrrrrrerrerrereenesveesee s 0.25 0.75
X® +¥
. F(x
calculus of lim Q ................................................... 0.25
XR+Y X
B.P whith abscisse’s axis as direction ........cceceeveveeenenns 0.25
2- | a) differenciability on right at O.......cveoveeceeveee e, 0.5 0.75
graphic interpretation.........cccoveiecieevene e 0.25
b) differenciability on P, +¥ [oeeoiiririnrrnennencesens 0.25 0.75
Calcusl of f'(X) ........................................................... 0.5
c) variations of f on [0,4¥ [ 0.5 1
deduction of the inequality.....ccccceeeeeveeceenieece e, 0.5
d) the plot of the curve according to measure unit 0.5
- |a) f is continuous on [0,+¥ [and the function xa ¢ f(t)dt is 0.5
1
the primitive function taken O at1
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b) | F'(X)= = (X) i inesnsnnenes 0.5 1
variations of F ..o, 0.5
4- 1 0.75
A calculus of O Vtin()dt for x> 0
X
b) the equality 0.75
c) The 1
area=
N 1 4 2 ’ 2 2 H 64 2
0, f (x)dx” 4cm®= F(0) 4cm®= 4cm lim F x)= 570
since the function is continous on right at 0.
0.75 for the calculus of the integrale and 0.25 for the measure unit
5- | a) The sequence is bounded..........cccovveriiceieececcece e 0.5 1
The sequence is strictely monotonic .........cccceceveennne. 0.5
b) The sequence is CONVErgeNt......ccoovererueieverinenrenreneereeeens 0.25 0.75
[IM UL = e 0.5
n® +¥




